1-183 OO00O00e20000000O00O@DO19090O)

obobbooboobooboobooboobo

gooooob o000 obO0OO0O 0bOOoobOo 00 OboOo
good oo goo ooboo o040 boaogo

1. 0OoOOo
gobooboooboooboobooooooobooooboooboobooobooobooboobooboobOoooOooDo
gbooobOooooboooobobooboobooobOoboooboooooboobooobooooboooobooooon
gboboobooooboooboobooboooobooooboob0ooooboooobooboOoboooobooooaon
obobooooobooooboooooboooboooboooooboooboboobooboooobooooboooobooooon
gbobooobooooboooobooooooooboooooooooboooobooooooooooooobooobooboobogon
oboooboooooboooboobooobooooobooooooooboooobooobooboboobOoboooboooon
gboboobooboobooboooobooooboooobooboOobooooboobooobooooboooboOoooon
oboooooooboooooooon

2. 0000
OOoooooosomnmOd024mmI000000000C00CO0O0O0O00O0 R=450mm
0o300000ooooooooo0o-1goooo0oooooo-2000D00000
gboboobooooooboooboobboooboooobobboooooobOoobogo
oboboooboooooboooooboooobooobooooboooobooobooobobooboOooonoo
0000000000000 0000000000 c=1125mm2O0 | =900mmO 0O
0000000000 0000000ooDbDO0O0000000-100000NACA00120
0000000000000 0000 3000000000 ooouoog fa/c=0.0000
fg/c = 0.0150 fc/c=00300 0 0000000000000 0O0ODO-200000000
y4A00000000000000DOCOO000O0OO000OOO0OO0ODOOOO0OD
OO0O0O0ONPLOOOOOOOODOODOOOOOOO 15mx 0 1.5mx 00 10.7ntd
oooooOooo0oooooooboOoooboo-8s0oboOoUoooOoboOooOoobboOoOoobo
OO0TOOOOOOnOODOOOODOOOODOO CpOOOOpBOOODOOD
oobobooboooobooobobooobobooboooooobooboooonooo
ooooobooooooTOOOOOsOUODOO oD OODOODOOODOIODO
000000 0000O000boObO00¢=0°000¢=0°0120°00000000
oooooooooon

3. Dooooooo
O000000o0oooDoo-+400000 ADCO0O000 n=15002000 rpm 00O
O000p=25040000000000000000000n=2102200rpmI000O
oboooooooobooobooobboobooboobooobo0oooboooboooboooooo
gbooooooooboobooboobooboooobooooooobooooooooaoo
oboboooobooobooboooboobooobobooooboooooooooooooooog
bobooobboooboooobooboobbooboooooooobooooboooboo
ooooooooooo AbDCOO0bODOOOOO0O0OooooooboooOoboobobogo
gboooooboobooboboooobobooooobooooobooboooooaon
coooooOooooOoOobo TOODOOOODOOOOOD G ODeOOODO-500O
gOooooO0oooOo0OO00O0ooooOoDOOo00O0-e00000O0OO30D000000
obobobooboooooboboooboobooboboooooooooobooooboooooo
gboboobooboboobooooobooboobooobobooooooboooobobooo
obobooobooooooboobooooooobobooobOoooooooobobooooo
OO000¢=30°000000000000000OODODOOOOOOOCODOOOOOOO DCDDD
oboooooobooooboobooooboobooooboboooooon 00-20000000

goooo oOoOoOoo,b0o00000000,000
0 770-850600000000O0DOO 21 DOOO TEL/FAX:088—-656—-7323

-365-



1-183 oboboe20b0b00obOobO@Dbasben)

4. 00ODO
ooboobooboboobooobooooooobooobooooboooboooboboooooooooboooooOoooon
gboboobooobooboobooboooboooobooooboobobooooboobooobOobooOoobOobooobOoon
oboooooobooboooooboboooboobooooboooboobon
oboobooboobdoooobobooooobooooboooboobooooooobooooboboOobOoDn
obooobOoooobooooobobooboobobobooboobooobooboooobooooOoobooOoooboOobooooboOoon
gbooboobooooboboooobobooooobooooboobooooboOobooooobOobooooboOon
obooobOobooobooboboooboobooooboboooboobooboooono

Sl | |
= L
c H Eh—&
ODadd A " J
fi fo s
T T
¢ ¢ MLYav—4
ObOO B OcOO C Nz
Oo-10000a0
‘ ADZHR—F ‘
5 |
L H — ‘ PC(LabVIEW) ‘
_ Els] hvoksEE —
REREAR i @Tmam%s
o DCISYLRE—H— ~—{ DCTSYLAE—S—HlHEE ‘
020000000 030000000000
Cr (%) Cr (%) Cr (%)
40 40 40 B
30 m’/./m” 30 R 30 ﬁﬁy}a\@
,;fr& N j/ f/ A»'A”‘i\\g /j O SN SN \‘,\
20 . 20 g d 20 Lo S
Ly 28 \ s
" AR e 1 b ¥ 1 AET
7 A \ ;/"I © © " \§ ;x'?ﬁl, © g‘
4 ¥ g o, e SRR
or RS | or SR TR oy | or *~ \%\9 = X @ ZE
w T % * ™, m\ * )
. X, a . . \ N
-10 : . -10 * : -10 A e
* X, \Qg * X, o % X \§
20 | rELsO(pm) —o— X —— 20 | retsogpm) —o— F ! 20| me1sogpm —e— K
n=200(rpm) ---&-- “x . i n=200(rpm) ---&-- . N n=200(rpm) ---&-- % X |
n=205(rpm) -4 ‘\ X I n=205(rpm) -4 % X ) Nn=205(rpm) -4 \ L
-30 | n=210(rpm) - 3 > % -30 | n=210(rpm) - . - y -30 | n=210(rpm) - ‘% %
n=215(rpm) -->-- X n=215(rpm) ---- \ \ i n=215(rpm) ---- . 3 4
n=220(rpm) --%*- . \\ﬁJ n=220(rpm) --*- X 4 \@ n=220(rpm) --*-- ', “ \‘
-40 i I i i ) VD -40 i I i i . N -40 i I i i
00 05 10 15 20 25 30 35 40 45 50 00 05 10 15 2.0 25 30 35 40 45 50 00 05 10 15 2.0 25 30 35 40 45 50
Dal0 A §=-4° s ObOO BO §=-6° 8 OcdOCO60=-6° s
04000 -000000
Cr Cr Cp
0.10 0.10 C. 25
\ ) -
0.08 / 0.08 A 2.0
/ \ / B 15
0.06 & 0.06
° 2 B 1.0
0.04 T 0.04 5
E
] o B g, ﬁ\/z 2 égg 05
0.02 g 8 0.02 R \
o] A ) © a [ 0.0 ;
0.00 0.00 IV A 4
N e 0.5 '\
U=2(mis) o 538 / u=2(mis) o S/ K é‘i%
-0.02 Fu=4(mis) & -0.02 Fy=4(mis) & 1.0 2\ it
U=6(m/s) © U=6(m/s) © W A
estimate estimate o
-0.04 L L -0.04 L L -15 L
0 15 30 45 60 75 90 105 120 0 15 30 45 60 75 90 105 120 0 30 60 90 120 150 180 210 240 270 300 330 360
¢(deg.) @(deg.) a (deg.)
Oado=0° Ob0O6§=-4°
0-5000000000000000 AO 06000000 DOOO AO

-366-



